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Who has been announced as new
brand ambassador of ‘Beti Bachao

Beti Padhao’ campaign for Haryana
State ?

(A) Pariniti Chopra
(8) P.V Sindhu

(C) Sakshi Malik

(D) Deepa Karmakar

In  Haryana, Copper coins of
Harshvardhan period was found
from

(A) Sonipat (B) Pehowa

(C) Agroha (D) Panipat

The first non-Congress Chief Minister
of Haryana was

(A) Ch. Devilal

(B) Ch. Bansilal

(C) Pt. Bhagwat Dayal Sharma
(D) Rao Birender Singh

Chaudhary Charan Singh Agriculture
University is situated in

(A) Karnal

(B) Rohtak

(C) Mahendragarh

(D) Hisar

Which one of the following districts
of Haryana does not formed
boundary with the river Yamuna ?
(A) Yamunanagar

(B) Panipat

(C) Sonipat

(D) Rohtak

‘The Chinese Traveller Hiuen-Tsang,
visited Haryana region, during the
period of

(A) Harshvardhan

(B) Rajyavardhan

(C) Prabhakarvardhan

(D) Madhava Gupt
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7. For setting up a New Industrial 1 {.‘7—.) &ria v AU sheitfe _:"H.-A;.?_’::"I::
Township at  Gurgaon, Haryana | g e efean TEEE IS 3
Government signed a MoU with | yacey 9 et Y ol

company qus TTAYNE

Ay e

(A) Korea Fortune Land Development . el
= ’ i = TAUYRT
(B) Japan Fortune Land Development _ (B) Ariet wTA AV . 1
(C) '(Cchl:ilr-\S)Fortune Land Development () ""'—":‘.:‘ Juez TqAURe (CALD)
ey Nere AT
(D) Thailand Fortune Land (D) W& TTS B aus AT

Development

| e srege B udea, aa e R
o aarmi

8. In Haryana Government who holds | 8. ) — 3
the MTnislrv of Tourism, Technical -' 'r'r:"zm'” sy (e wra e ?
Education and Parliamentary Affairs ? ! (A) Tirgs Mad
(A) Vipul Goyal 1 By srfaara e
(B) Rambilas Sharma (C) aard @a

(C) Banwari Lal

(D) 8 1 #S
(D) None of these

9. Mangiana Project of Sirsa comes 9. frzwn af :iﬁ?qur:ﬂ afyarrEn feg faem=
under Mission. i F dTd AT R 2
(A) Horticulture Lmqqr.n
(B) Pisciculture (B) WEAITAA
(C) Poultry-farming (C) fiuraa
(D) Animal Husbandry \,kBT BRI I B
10. Historical town Rania is in the district of 10. faefme ar afm fFa g ?
(A) Hisar (B) Panchkula uay feai (B) W
(C) Sirsa (D) Bhiwani (C) fuzam (D) frard
11. In Har?:ana Government munister 11)’ aframon wwr i -
Banw‘arl Lal belongs to which -6 A T 7
constituency ?
(A) Bawal RIBE
(B) Sonipat (B) wrie
(C) Faridabad () wiraar

(D) None of these (D) 378 4 3 -

12.  All of the following rivers originates

from Shivallik Hills of Haryana, except - 12. e mﬁ Teal wRamn & Rraf
(A) Yamuna (B) Ghaggar TereU A Frverdh &, Ryarg
(C) Markanda (D) Tangri AW (B) wmR
(C) "&Es) =R
13. How many districts are there in Haryana ? 13 . . . ‘_(D]
:ﬁ) 20 (8) 21 - BRI e R
5 ) 22 (D) 23 j:; i‘; (8) 21
. (D) 23
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14,

15.

16.

17.

18.

19.

20.

21.

Name  the Bidthplace  of  Mahavk
Swaimi,
(A) Lumbind (M) taayn

(C) Vanhal () Fannang

On the banks of  whichy
Alexander and Moo Tipthe
(A) BDeas (1
(C) Ganga

vl

elom
() Yamung

Which of the tallowing tdvers does, not
flow Into the Arabian Sea »

(A) Narmada

(B)  Sabarmati

(C) Godavari

(D) Tapu

Name the ceop which was introdueed
i India in the 17th century, Altermate
spells of rains and sunny weather are
ideal for it

(A) Barley (1)
(C) Jute (D)

Taobacco
Malze

Who is the supreme commander of
the armed forces of India ¢

(A) the Chaet of the Army Stalf

(B) the President

(C) the Primve Minister

(D) the Defence Ministes

Who was the chairman of the
drafting
Constituent Assembly !
(A) Dr B.R Ambedkar
(B) C. Rajgopalachar
(C) Dr Rajendra Prasad
(D) Jawaharlal Nehru

committop ol the

When was the Tata lton & Steel

Company set up at Jamshedpur ¢

(A) 1907 () 1911
(C) 1914 (D) 1921
When was the General Insurance

Corporation of India formed ?
(A) 1982 By 1972
(C) 1956 (D) 1934

L, T TA | R 1T | I PR EY TR T P S PR e e
ANy b (B) na
() ey (D) ==f1n

15, Do adb i ae qe s sfie aies g
NI,

(A) ~1n wABY Stam
(C)y s (D) wen

16, Lo o b Y Sl ava I o
el ine
(A) (B) anawdy
(C) marah (D) nehy

17, St ety st (S anea 1 178
U)oy S A e | vt gl
DTl s e e o fem anes
BT |
(A)
(C) e

(8] @I
(D) =

Lth

D 0 qett e graled awsEt SRS
(A)Y sy 2o g v

(B) - vyl

(€Y warrd)

(D) wnad

19, AlweEr w9 ursy affa @ s
R
AAY S A
(B) W e
(C) &1 i ware
(D) Sl e i

WA

20, Oy N T U a7 WA B
el I ol o

CA) 1a07 (B) 1911
(C) 1919 (D) 1921
21, i o A fann e wfag
e B
(A) 1982 ) 1972
(C) 19586 (D) 1935
a 36
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22.

23.

24,

25.

26.

27.

28.

29,

36

What is the coloyr of the ‘Chakra’
(wheel) of India’s National Flag ?
:E\] Light biye (B) Dark green
) Navy blue (D) Blue-black
How many lions are visible on our
National Emblem ?
(A) Two (B) Three
(C) Four (D) One
Whao won an Oscar Award for
costume designing ?
(A) Shekhar Kapoor
(8) Bhanu Athaya
(C) K. Asif
(D) Raj Kapoor
Who was the captain of the first
Indian Test cricket team ?
(A) Lala Amarnath
(B) 1LAK. Pataudi
(C) CK.Nayudu
(D) Gulam Ahmed
With which slogan was Independent
India’s first stamp issued ?
(A) Jar Hind
(B) Satyamev Jayate
(C) Azad Hind
(D) Nayi Subah
When was the First Asiad organized
in New Delhi ?
(A) 1950 (8) 1951
(C) 1952 (D) 1953
In which country was the Nazi Party
founded ?
(A) Germany (B) Italy
(C) Turkey (D) Israel

Name the East Asian neighbouring
country of India which became
independent in 1948.

(A) Myanmar (Burma)

(B) Japan

(C) Korea

(D) Indonesia

22.  WRA W AEA Gy an 31 TR 7
(A) &= A (8) nea el
(C) mewsiien o)) .’ulm‘"(-‘

23. o ardla wdi i fan e (e @4

T7
(A) @ N g
(C) (D) T&

24. wirga fEangfm & fau faRe R
YTEHR Sflen 2
(A) Az ayR
(B) AW
(C) . nfaw
.(D) ?Iulilnlj_?
25.  yui dia o fRde dm e wart
dH A7
(A) T AT
BT ... ueTd
(C) WM&, Uy
(D) T[T HEHE
26. ¥\ AR & Wy WAF WEd @ gEe
fowe s g M 2
(A) w1 fes
+BY [ewig WU
(C) e fee
(D) ¢ yae

27. A% e ¥ uygen vRrare wa i

foray Taran 7
(A) 1950 4BY 1951
(C) 1952 (D) 1953

Ga/) 1ol Wi} @ e R A A gan A 2
A) S (B) geel
(C) (D) SR

29. R & I4 yd ot asRi 1 w1 Am
AaTSU i1 1048 N FAH I |
JAY MR (@)
(B) <ty
(C) @R
(D) g=mRmm
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30. In which country s the Lsg-ieg
Tower of Fisa locatecs 7 A 1
{A) Germany {8} France = =" ‘
(C) Iraly (D} Gresce - — g -

Lo

31. How long does the zamt™ t2:e oo 3z T E T s T T S
complete one rotation on 23 2ws T e —— e &
(A) 24 hr. 30 min 15 sec 2 i E = w®
(B) 23 hr. 56 min. & sec e
(€) 2ahr SRR IES e
(D) 23 hr.52 min 21 s=c el
32. In which year was the Soush Asa~ - i 2 s e AL
Association  for  Regona Co- SRR <y :__:_ = _._:_ - _-__ . o
operation (SAARC) formeg ° v ineaiec dae ot aoaiay aadhe
(A) 1961 (B! 1873 2 > B =
(C) 1985 (D) 1SssS O -38= = ==
= TT = T T =

C
]
- |
[
o
“
* 8
-1
4
h
Ly
L

33. Where is the head
United Nations sity ate: .
(A) New York - o
(B) Paris S |
(C) Washington DC : BT
(D) Genevz By .

e

34. Which of the following in the human M =T SES=IEE=mEeT S
body is affected by leukemiz 7 ool . =
(A) Blood (B) LUNES > - = e
(C) Eyes (D) Nerves - == - :'__:

35. Inside which organ i the zal. 38 ~ e e e —

bladder located 7
(A) Pancress 4

i=
4
'
i

(B) Liver P
(C) Kidney - -
(D) Smallintastine n =
36. FIFA, 2018 World Cup wil be he'd 1z v 203 v o 2t s e
| Russia . 2 ==

(A) Brazil (
(C) Germany (D) Spain -

37. What is the distance between gach 37 crEr e T o
set of stumps in cricket 7
(A) 16 yards (Ba 18 yards Al 1 BE PO
(C) 20 yvards (D) 22 yards P o w2

1
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38. How long does it take for the

39.

41.

42,

43,

36

moonlight to reach the Earth ?
(A) 1.3 sec (B) 12.5 sec
(C) 1min (D) 52 sec

The first green train corridor of the
country was inaugurated between
Rameswaram and Manamadurai In

which state recently ?

(A) Andhra Pradesh

(B) Tamil Nadu

(C) Karnataka

(D) Kerala

Who has been appointed as the new
President of Microsoft India ?

(A) Bawa Singh

(B) Rishikesh Bose

(C) Anant Maheshwari

(D) Kamal Jain

which of the following sports has
been included by the International
Olympic Committee (I0C) for 2020
Tokyo Olympics ?

(A) Skateboard

(B) Surfing

(C) Karate

(D) All of the above

The govt. has set the target to roll out of
the Goods and Services Tax (GST) from
(A) 1 March, 2017

(B) 1April, 2017

(C) 1June, 2017

(D) 1 September, 2017

Vijay Rupani sworn in as the Chief
Minister of Gujarat on
(A) 7™ August, 2016
(8) 9" August, 2016
(C) 10™ August, 2016
(D) 15" August, 2016
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39.

40.

41.

42.

43,

e ¥ wETa R U 92 ugm A

gy anar & 7
(B) 12.5 ATVE

(c) 1fMre (D) 52 AwvS

ora & N fr Teu A e AR
e $ @la dw & ged wla g
nfyar o Igured fem T a2

(A) amu EET

(B) afraTg
(C) wAte®

NG/ IGE

argwIiye sReur & T aae & w9 A
fr Prgee frm man e 2

(A) aran fhig

(B) Ffudw arg

(€Y art=1 mrevad)

(D) @wa I+

s 1 @ @l W Wa iy
anfafars &Y (10C) g1 2020 AYfdal
afafaren & fore e frm man g 2
(A) whears
(B) wfihin
(C) wwre
(D) Sudia i)

WER A fFg arfta A a9 @ dar @
(GST) @ WG # a1 &1 dea PRuifRa
foran & 2

(A) 17T, 2017

(B) 131%et, 2017 §

(C) 19,2017 &

(D) 1 fHaR, 2017 A

[A5ta warht A o & g 5= & wy
Ay oft

(A) 7 3R, 2016 &

(B) 9 3T, 2016 &)

(C) 10 34, 2016 &)

(D) 15 37T, 2016 B



44,  In the tollowing series of numbers, find

out how many times, 1 3 and 7 have

appeared together, 7 bewng in the

middle and 1 and 3 on either side of 7 :

2975173771331 738
1

57 Td'd ¥ 2?3906
(A) 3 (8) 4
(&8 (8- (D) Morethan 5
45. In a March Past, seven persons are
standing in a row. Q is standing left
te R but right to P. 015 standing right
to N and left 1o P. Simularly, S is
standing right to R and left to 7. Find
out who is standing in the middle.
(A) P (8) Q
(C) R (D) O
46. Choose the correct alternative.
Genuine : Authentic : : Nhrage © 7
{A) Image (B) Transpiration
(C) Reflection (D) Wusion
47. In the following four words, three are

48.

49.

50.

alike 1in some manner and the fourth
one is different. Choose out odd one.
(A) Garnet (B) Ruby

(C) Graphite (D) Emerald

Choose the missing term out of the
given alternatives

AB, DEF, HUUK, 7. STUVWX

(A) MNOPQ (8) LMNOP

(C) LMNG (D) QRSTU

Bhajan Singh purchased 120 reams of
paper at ¥ 80 per ream He spent T
280 on transportation, pard octror at
the rate of 40 paise per ream and
paid ¥ 72 to the coolie If he wants 10
have a gain of 8%, what must be the
selling price per ream ?

(A) 90 {B) 8%

(C) 87.48 (D) 86

An employee's average contribution
to his provident fund for the first 9
months was 7 3,500 each and for
each of the remaining 3 months, the
contribution was 2 5,500 By what
amount was his total contnbution
short of ¥ 58,000 7

(A) T 4,000 (B)
(C) 28,000

716,500
(0) T 10,000

aa. & Fraann @

syt &, ST At

; g fhah gl
fy 1,307 7 ¥ s E:

7 ez 3 91 309 1 201 3,
3973373733333 7238
§9 877108995
T

©) s (0) 5 A Hfaw

a5, T wE (T O i 7 @i O AR A

G‘é?ta.ninnﬂﬂam‘qﬁip '-'I;m@
AT w21 O.N® ceri I SR O LI

ardi ae wmer &S a%E A4S, R b 21l
e gan T o ardt 30 WS 1T Fifau
f¥ GraTe i He B A WS |
(A) P 48T Q
(C) R (D) ©
a6. < famrea @) wge anfong |
arzyedt - et o o s :?.
(a) ufafaa (B) w¥awsi

(C) uTd (D) =ifd

a7, fyafafera aw w7 d9 A wrey A

e @ dul den B S R
ore 1 dU- oy |
(A) e

(C) awiEe

3By &l
(D) wEs

ag. fzu wv Rawdl § 4 @@ UL &1 g

T

AB;DEF-HUK, ?, STUVWX

_(AY mMmnNOPQ iBI LMNOP

(C) LMNO D) QRSTU

49. of fe 120 919 @rm T eo ufa S5 @

77 @ W 8 13U T 280 uiRaE #
g v, 40 63 ufa &5 & fewa [
T2 A fean aur 3 72 gt @ R
afe T® 39 U 8% e SN aredl g, @
Frra 1 ufa a1 Rwa ovm = el

wmifen 9 ’
(A) 90 (B) 89
(C) 87.48 (D) 86
50. va ndard) @ wfag [ 8 ahwa

g a9 e b e ula e
T 3,500 WU AU 9NN 3 MIE & o) OB
MU 5500 U HIe o1 W) g
WIS E 88,000 B IR Bl A2

(A) ¥ 4,000 (B) 16,500
(C) ¥ 8,000 (D) 10,000

36
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51.

52.

53.

54.

55.

56.

57.

58.

36

The least multiple of 7, which
leaves a remainder of 4, when
divided by 6, 9, 15 and 18 is
(A) 74 (8) 94
(C) 184 (D) 364

If one-third of one-fourth of a
number is 15, then three-tenth of
that number is

(A) 35 (8) 36

(C) 45 (D) 54

A tank can be filled by a tap n
20 minutes and by another tap In
60 minutes. Both the taps are kept
open for 10 minutes and then the
first tap is shut off After this, the
tank will be completely filled in
what time ?
(A) 10 mins
(C) 20 mins (D)

(B) 15 mins
25 mIns

Who among the following 15
associated with the invention of
computers ?
(A) Edison

(B) Babbage
(C) MacMillan
(D) Rangabhasshyam

which of the following criternia 15
used for any metal to be used as a

cooking utensil ?

(A) Less thermal conductivity
(B) More thermal conductivity
(C) Less electrical conductivity

(D) More density

Which of the following metals s
not affected by air and water under
ordinary conditions ?

(A) Iron

(B) Platinum

(C) Sodium

(D) None of these

M

How many pairs of walking legs
does a cockroach have ?

(A) One (B) Two

(C) Three (D) Four

Enzymes help in

(A) Respiration

(B) Digestion of food
(C) Immune system
(D) Reproduction

51.

52.

53.

54.

55.

5

56.

7 bl A Hadl wien quin 98 6, 9,16
a2l 18 A by e g a4 Ny Qi .

AU

(A) 74 (8) 94

(C) 184 (D) 364
ufr fwM Em vl ftend &
v RIS B W A5 LM g A &
Frer amrna10) B AU R
(A) 35 (8) 36
(C) as (D) 5S4
U o4 B BT T <E) 20 fAae 4 qf on
R R 2 IR EA - RUECAR
a =10 & aa 10 Az & e e faa
A ) fee aedr 9d @ farn e
P T are av e s s A gl R
Arry 9
(A) 10 faqe (8) 15 faae
(C) 20 fa-re (D) 25 fa=re
fe- 0 @1 39 vge @ @ A yafag
n?
(A) vizaq
B} ATA
(C) A&l
(D) ey
WTAH T & U & #5497 I9a 3 o
Ffav o & fem FE g a s= w
HIAZUS IIYFA © ?
(A) &M FB TTAGHA]
By wfad 300 didwda
(C) w4 favyd ard®a
(D) wfaw fer
fre=i 0 @1 @ra <@ ang wer g
R ary At o 8 wfaa T e g 2
(A) e
JBY @@fe
(C) wisum
(D) g1 a4 @ 4l

57.  13clal 0 ad b yid fFd T A & ?

(A) ta (8)
(C) N+ N5 I

8. USAISH UETWH B
(A) TauaR
(BY T yras n
pen ufaeen worref
(D) w1 Y

D
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NGLISH LAN = wr=

. . w11’ ih i K
g9, Findthe correctly spelt word 64. yu-p @10 ST vy W T

A1 tulion w72
"rs‘: S:-:h::uettc JA) RTAr e ml]?ﬂ y? farar B
(C) flambuoyance (B8) ¥ e A

. (c) wufam & HEW AN

(D) kaladeiscope (D) wrn=na A aeran ¥ fae wdn

60. Fill in the blanks with appropriate 65. 1 w1 o ¥ ot ) & w S S

prepositions d g dEA
She stood the window and (A) Al (B) aviman
locked out a gray cat. (C) Teamyvl W™ (D) AT <
AL ats et 66. Frefarfam A 9 g B A WE?
(B) -at. on (A) e B i‘Fm—’ﬁ
LT by, at (C) wauh (D) wafe
e 67. v BN @

61. Choose the word that best expresses (A) ™ (B) Y=X
the meaning of the underlined word : () wfdremeh D) TvTari
~n officer must know how to handle 68. ‘dmHTT’ e TR & D 1 AT
his men (A) =<
(A) confidence (8) WW‘W'

\_J‘BT manage (C) STUYIHY WATS
(C) Oath (D) weTed ant
(D) discipline 69. WIFA e T

62. Select the substitution that best (A) TR (B) L
expresses opposite meaning of the (C) HI (D) wAdIet
underlined word : 70. foga Fa WY 34 q G| raf & foo
The terms of the agreement were Wﬂﬁﬁﬂ?ﬂﬂaﬁﬁ?l
deliberately vague. Ay I (B) T
(A) wide (C) 4 (D)

BT specific 71, 3R = & vErErd F 99 HC |
(C) written (A) Ja (B) m
(D) oral (C) ¥mwE (D)

3. Choose 2an alternative which can 7. ﬁm#mﬁmmﬁ:ﬁﬁ;
replace the given words or sentence - ‘Eﬁ qye & LR
so 25 to communicate the same (A) - 8y ok
meaning
One who cannot die. (C) wHe (D) w4
(&) perpetual 73. mqﬁqﬁq{qmqﬁaﬁaﬂq'&

48] immortal SR € 7
(C) constant (A) ¥ (B) Fehifert
(D) timeless Jey” I (D) oI
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74,

3.

76.

77.

78.

79.

36

In which one of the following states
Prime Minister launched the ‘Gram
Uday Se Bharat Uday Abhivan’ on
Apnil 14, 2016 ?

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Gujarat

(D) None of these

In which of the following group of
countries of the world, MYVs {high
yielding varieties) of wheat and rice
were developed ?

(A) Japan and Pakistan

(B)] USA and Japan

(C) Mexico and Philippines
(D) Mexico and Singapore

Bhangra is the folk dance of which
Indian state ?

(A) Deth

(8) Punjab

(C) Chhattsgarh

(D) Himachal Pradesh

The siogan 'Do or die' s associated
with which one of the following
movements #

(A) Non-Cooperation Movement
(B) Cwl Disobedience Movement
(C) Quit Incia Movement

(D) Swadeih: Movement

in which of the following states
Panchayati Fa; was first introduced
in India in 16959 7

(A) Rajasthan & Andhra Pradesh

(B} Tamil Nadu & Rajasthan

(C) Kerala & Andhra Pradesh

(D) Karnataka Rajasthan and
Andhra Pradesh

2,8,14,20,26,32,38, __,
Complete the series.
(A) 2,46

(C) 42,48

(B) 44,50
(D) 40,42

78, ffafeg i @ fea ea § g 95 3
14 e, 2016 @1 ‘UM dgu A RA
Fe by g (e
(A) sz e
JABY T aae gy
(C) o
(D) o a s nll
75, Foalafera fava & 2w & we A 9
ldart i afte araer af) e awor [
Hev) Rt b afy 2y 2
(A) e she ifavear
(B) v v
(C)  fbarrem) s Pnafidin
(D) “lras ane foamge

76. s @ ameta son an AT e
(A) Frad
ABY AT
(C) wdimg
(D) fesraa uaw
77. @R w o o frefafam 3 A e
wrERtEA A uafae o
(A) SETEUT Mt
(B) A1y wawm w=tas
ey T s wrara
(D) 3wl wrataa
78.  Pmifirtens o i @ v 1959 % W
] oaauas gaad! s q19] M o k)

UIAY e e iy ude
(B) oferma sy o
(C) ¥4
(D) stherin, vavana by S wRew

P A0 MY gom

79. 2,8, 14,20, 26, 32,38, ___,
it et gt e |
(A) 2,40
(C) 42,48

\BY 44,50
(D) 40, 42
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P —

81.

82.

83.

B4

86.

JAK, KBL. LEM, MDN, 3
Fill in the blank
(a) OFEF
(C) MEN

(B) NEO

{0} PFQ

which word does notl pelong with
the others T
(A) Twre
(C) Engine

(B) Steering wheel
(D) Car
Odometer s t© mileage as COMPAss
1s o

(a) Speed
(C) Needle

(B) Hiking
(D) Direction

in a March Past, seven persons are
ctanding 1 a row Qs standing left
ghtto P O ctanding nght
loft to P Similarly, SIS
Wt to R and leftto T, Find

to R butr

to N and

standing "g

aut who 5 standing in the muddle
{A) F (8) Q

(C) R {0) O

The cost price of 20 articles is the

e a5 the selling price ot articles

if the profit s 25%: then the wvalue
(A) 15 (8) 16
B (D) 25

The average monthly expenditure of
farmily was T 2,200 during first
months T 2550 during next
months and T 3,120 dunng last
months of the year if the total

) the year was 7 1,260,

amsi;me dirrine
:r!-iﬁr’ Guring

WU b ) -

find average monthly income
(A) T 3,960 (B) T760.8
(C) T 2,805 (D) ¥3,125

Find the HCF of 54,288,360
(A) 18 (8) 36
(C) 54 (D) 108
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80.

81.

82.

83‘

84,

B5.

86.

L, LCM, MDN, ——

JaK, KBL LSV

far et AT LA

(A) OEP (B NEO
(D) PFQ

(C) MEN
g e A q wafad T &7
(A) ¢nR (B) whafin &

(€) T JM’ @

senfrey (SR g A tﬂr.a-?jﬁ 31 vafaa

& ad uan ik gafaa e

(A) Ak () wEdrEl
oy femm

(c) 4t

trﬁcﬁmmﬁﬂwﬁﬁﬂﬁ
1 & g ardt s Wd P @
K o ot & N @ el I3
e p aft anfl WR A E | gt ave, s 9
B R o aTdl e Ay T @) ATl 3R TS

& ) s ST fap T A A TSI |
4B) ©

(A) P
(C) R (D) ©

20 azeail @ @ EAC IR
qar & 1 ofs I 25% §

aa W
WL a
ard) e e

faah afsa @
1. dlt v @ HIE ERT

(A) 15 (B) 16
(C) 18 JD) 25

freht uftar @ fEa e wd uEd 3
e & e € 2,200 1, ¥ 4 WE F
fome € 2,550 aet ad & w5 9 &
fare €3,120 ve 1 af o & SR FE
aua ¢ 1,260 g @ v fwa wifhe
s aeps HSI

(A) 3,960 (B) T760.8

(€) 2,805 (D) ¥3,125

5,288,360 ®1 #.3.4, FRaHE |

JA) 18 (B) 36
(C) 54 (D) 108

3¢
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87.

88.

89.

20.

91.

92.

33.

36

4 l
Simplify :a Hxa'tea

(A) a i (B) a':
(C) a™ (D) None of above

Two pipes A & B can fill a tank in
20 minutes and 30 minutes
respectively. If both the pipes are

used together, then how long it will
take to fill tank ?

(A) 10 minutes

(B) 12 minutes
(C) 15 minutes

(D) 20 minutes

The pH of human blood is
approximately

(A) 7.2 (8) 7.8

(C) 6.6 (D) 7.4

Optical fibres are based on the
phenomenon of

(A) Interference

(B) Dispersion

(C) Diffraction

(D) Total Internal Reflection

In which of the following areas, a
spreadsheet software is more useful ?
(A) Psychology

(B) Publishing

(C) Statistics

(D) Message sending

Which of the following is responsible
for the extra strength of pyrex glass ?
(A) Potassium Carbonate

(B) Lead Oxide

(C) Borax

(D) Ferric Oxide

Carbon dating makes use of the
principle of

(A) Conservation of energy

(B) Conservation of mass

(C) Conservation of momentum

(D) Radioactivity

13

37.

88.

89.

90.

1.

92.

93.

v L,
v fon . a T xat

{A) a ™

‘B} a4 N

(C) a:

(D) GustikI v H 4

&t wign A aen B fadt i @ e |-{(‘J|
aen 30 ferer o2 @ 4l -:u--._-“-l_"--li
A0 e 1R D | :ni% oIl ¥ fer Petand
MY T ?

(A) 10 fis (8) 12 fF=
(C) 15 fime (D) 20 &2
HIAA BT @) p S O

(A) 7.2 (g) 7.8
(C) 6.6 Aoy 7.4

yareita e fran wfespesn we e E
(A) @fddzm

(B) faequ

(C) faas=

(D) gvi wrerfves weras

Fret 3 91 fv e/ wrseiie @S
Hig® Igaril enn i 2

(A) srfasE

(B) wenTErA

N = ghilIEe 7
(D) Haw gum
QIR g & g qmed & fag FE
Y T Jaderdi 27
(A) wrefirm i
(B) &% 3mamgs
(C) @
(D) e samE=
wiE-efen ) aF m Rz vy g 2 e
(A) Fi-Fieem
(B) vi@fci-zivem
N EEicuE et
(D) feumfmuen

Downloaded from www.cclchapter.com



94,

95.

96.

97.

98.

99.

100,

Gujarl Mahal is situated in which city
of Haryana ?

(A) Hansi (B) Narnaul

(C) Hisar (0) Rewari
Hero o Motoreyele manufacturing
factory 1« located in which district of
Haryana ?

(A) Faridabad
(C) Palwal

(B) Rewari
(D) Sirsa

Medical University in Karnal, Haryana
15 proposed after whose name ?

(A) Ch. Devilal

(B) APJ Abdul Kalam
(C) Kalpana Chawla
(D) Karnal

Which of the following district of
Haryana is not sandy ?

(A) Mahendragarh

(B) Bhiwani

(C) Sirsa

(D) Kurukshetra

The building ‘Birbal ka Chhatta’ is in
which town of Haryana ?

(A) MNarnaul (B) Hansi

(C) Mahendragarh (D) Rewari

The objective of lying railway line till
Farrukhnagar was

(A) for militant purpose

(B) tocarry salt

(C) tocarry stone

(D) for cycle industry

The  Government of Haryana
launched the Pashudhan Bima
Yojana in

(A) Bhiwani (B) Jhajjar

(C) Rewari (D) Rohtak

95.

96.

97.

99.

100.

I e
PLtci, ke

fiwd A J u=gniaa g7

EEITN ¢ 791 55 HeS o =%
forss Siva 3 fFar o an 2

(A) &fFs ITTT d

(B) 7m& =z ¥ faw

(D) WEEa Sam & fav

T[T B

(A) FyarT
(C) Tt s

’..’(B)
(D) e
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